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Instructions :

ENGLISH VERSION

(1) Marks are shown on the right side of question.

(2) Show required calculations as a part of answer.

1  The following are the balance sheet of Raj Ltd. as at 315t March 20

and profit and loss account for the year ended that date:

Balance Sheets

Liabilities 2020-21 | 2021-22|Assets 2020-21 | 2021-22
Equity share capital 1,50,000 | 1,50,000|Fixed Assets 4,10,000 | 3,90,000
Pref. share capital 50,000 | 50,000|Stock 60,000 | 1,20,000
Reserve fund 20,000 | 40,000|Debtors 80,000 | 1,60,000
P& L Alc 28,000 4,000|Cash-Bank 60,000 4,000
Debentures 2,20,000 | 1,60,000 |Preliminary 6,000 6,000
Bank overdraft - | 40,000| expenses
Creditors 60,000 | 1,80,000
Provisons for taxation 68,000 | 26,000
Proposed dividend 20,000 | 30,000
6,16,000 | 6,80,000 6,16,000 | 6,80,000
Dr. Profit & Loss Accounts Cr.
Particulars 2020-21 |2021-22 | Particulars 2020-21 | 2021-22
] 4 ] ]
Interest on debentures| 4,800 9,600 | Balance b/d - 28,000
Director's fee 20,000 60,000 | Profit during
Provisons for taxation | 68,000 26,000 the year 1,60,800 | 1,21,600
Proposed dividend 20,000 30,000 (after
Provisions for depreciation)
general reserve 20,000 20,000
Balance ¢/d 28,000 4,000
1,60,800 |1,49,600 1,60,800 | 1,49,600

You are informed that the total sale amounted to ¥ 12,00,000 and

% 10,00,000 for the year 2020-21 and 2021-22.

From the above information calculate for the Rate of Return on
Net Capital Employed.
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The balance sheet of Harshil Ltd. as on 31-3-2022 was as under: 20
Liabilities I |Assets 4
Equity share capital Fixed Assets 1,99,600
T 10 each 2,50,000 |Shares of subsidiary co.| 80,000
11% Preference Due from subsidiary co.| 4,00,000
share capital 3500 Long term investments 70,000
pref. shares of ¥ 100 3,50,000 [Stock 1,92.000
Share Premium 56,100 |Debtors 6.,00,000
P&L Alc 2,62,000 |Bank balance 20,000
Dividend Equalization fund| 1,40,000 |Preliminary exp. 5,000
5% Debentures 28,000
Bank loan 10,000
Creditors 3,82,000
Unclaimed dividend 500
Proposed dividend 34,000
Bills payable 54,000
15,66,600 15,66,600
The following additional informations are given:
(1) The replacement price of fixed assets is determined
% 3,63,500 by the valuer.
(2) The present value of share of subsidiary Co. is ¥ 1,00,000.
(3) The value of investments is taken ¥ 78,000.
(4) Every year obsolate stock is written off. Write off stock
during this year ¥ 1,000.
(5) The loss from sale of machinery of ¥ 500 is debited to
P & L A/c of current year.
(6) At the time of determining current year's proft bank loan
interest of ¥ 500 was deducted.
(7) Net profit before tax is ¥ 3,00,000.
(8) On the basis of replacement price of fixed assets additional
depreciation of ¥ 11,400 is to be written off.
(9) The profit of ¥ 5,000 on previous year's sales is debited to
P & L A/c of current year.
Calculate for the managers:
- Rate of Return on Total Capital Employed
- Rate of Return on Net Capital Employed
- Rate of Return on Owners Capital Employed
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2 The following data are available from the records of S. K. Ltd. 20
for the month of February-2023.

No. of workers on the payroll: at the beginning of the month 539
and at the end of the month 641. During the month 23 workers
were left. 32 workers were discharged and 5 workers were retired
and 200 workers were recruited. Of these, 50 workers were
recruited in vacancies of those leaving, while the rest were engaged
for an expansion scheme.

Calculate labour turnover rate by applying:
(1) Separation Method
(2) Replacement Method
(3) Flux Method
OR

2 What is Labour Turnover Rate? What are the reasons of labour 20
turnover rate? What are the disadvantages of labour turnover rate?
Suggest remedies to reduce labour turnover rate.

3 The flexible budget of Urmee Ltd. is as follows. 15
Particulars Capacity
40% 70% ) 90% ()
Material 2,40,000 4,20,000 5,40,000
Wages 3,20,000 5,60,000 7,20,000

Factory overheads 1,00,000 1,45,000 1,75,000
Office overheads 52,000 76,000 92,000
Selling overheads 1,65,000 2,55,000 3,15,000

The company is presently operating only at 40% capacity. The
sales value of production at current selling prices is ¥ 10,00,000.
It is anticipated that a 4% reduction in the selling price will enable
the company to increase its sales valume and there by enabling it
to operate at 60% or 80% capacity.

Prepare a flexible budget for 40%, 60% and 80% production
capacities and find out profit.

OR
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3 The following financial data are available from the books of 15
J. K. Ltd. for year 2021-22.
Raw material (per unit) .........ccceeevveeecveennnennne R 6
Direct labour (per unit) .........ccccceveeevveeennnnnnne 35
Indirect labour (per unit) ¥ 2+ ¥ 25,000
Fuel cost (per unit) ¥ 1 + ¥ 40,000

Depreciation ..........ccceeeeveeenieeenieeeennen. % 50,000
Salary ....ooevieeie T 35,000
Rent of factory building ....................... < 60,000

Production and sales 25,000 units. (per unit sales price ¥ 20)

The Equity share capital of the company is 1,00,000 equity shares
having face value of ¥ 10 each. The market price of equity share
is ¥ 25 per share. Estimated cost of capital is 17% and taxation
rate of earnings is 50%.

Find out the following from this data:
(I) P.V.Ratio
(Il) Sales at BEP

(IIT) Target profit and required sales to get target profit.

4  Write short notes: (any two) 15
(I)  Scope of Management Control System
(I) Approaches of Target Costing
(IIT) Importance of Government Accounting Method
(IV) Characteristics of Kaizen Costing.
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